Midterm Exam - December 7, 2017, Stochastic Processes
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No calculators or electronic devices are allowed. One formula sheet with 15 formulas is allowed.

In English:

1. T have three children. A child is healthy for a time interval with exponential distribution (expected length
of healthy time interval is two weeks), then becomes sick and recovers after an exponentially distributed
time interval (expected length of sick time interval is one week), then the cycle starts all over again. Let
us assume that the children don’t contaminate each other, so their health processes are independent.

Currently all three of my children are sick. What is the probability that two weeks from now exactly one
child will be sick?

2. T go fishing. There are three types of fish in the lake: carp, eel and catfish. The expected time between
two fish catches is 30 minutes. Half of the fish are carp, one third of the fish are eel and one sixth of the
fish are catfish. A carp weighs 0.5 kilograms, an eel weighs 1 kilogram, a catfish weighs 2 kilograms.

(a) What is the expected value and variance of the mass of fish that I catch in the first two hours?
(b) I caught three fish in the first two hours of fishing. What is the expected time of the first catch?
(¢) T caught three fish in the first two hours of fishing. What is the expected time of the fifth catch?

Magyarul:

1. Harom gyerekem van. Egy gyerek exponencialis eloszlast ideig egészséges (egy egészséges periodus var-
hato hossza két hét), majd megbetegszik, és exponenciélis eloszlast id6 utan meggyogyul (egy beteg
periodus varhato hossza egy hét), és ezek utan a ciklus ajra kezdédik. Tegytiik fel, hogy a gyerekek nem
fert6zik meg egymast, azaz hogy az egészségiigyi folyamataik fiiggetlenek. Pillanatnyilag mindhatom
gyerekem beteg. Mekkora valoszintiséggel lesz két hét mulva pontosan egy gyerekem beteg?

2. Horgaszni megyek. Haromféle hal él a toban: ponty, angolna és harcsa. Két kapas kozt varhatoan fél 6ra
telik el. A halak fele ponty, harmada angolna és egyhatoda harcsa. Egy ponty fél kilos, egy angolna egy
kilos, egy harcsa két kilos.

(a) Mi a varhato értéke és a szorasnégyzete az els6 két ora alatt fogott halak Ossztomegének?
(b) Harom halat fogtam az els6 két ora alatt. Mi a legelss kapas idSpontjanak varhato értéke?

(c) Harom halat fogtam az els6 két ora alatt. Mi az 6todik kapas idépontjanak varhato értéke?



